

4sgm.com

Committed to You for Every Season!

2801 East Vernon Avenue, Los Angeles, CA 90058 USA Tel: (323) 582-4444

Fax: (323) 582-9630

E-mail: sales@4sgm.com



Closeout Pallet No. C012758

















Total	\$1,484.04					
Discount		\$593.62				
Total After Discount	\$890.42					
Total of Pieces	900					
Avg Price Per Piece		\$0.99				
Number of Unique Items		31				
Estimated Total Weight:	672.91	lbs.				
Estimated Total Volume:	83.52	Cu. ft				

FOUR SEASONS GENERAL MERCHANDISE TERMS OF SALE

- 1) Each closeout pallet is unique and is sold on a first-come basis.
- 2) Prices subject to change without notice.
- 3) Not responsible for typographical errors.
- 4) Pictures are for illustration purposes only.

5) Have a question on any closeout pallet details? Email us at sales@4sgm.com

- 6) All shipments are F.O.B. our warehouse, located at 5840 E Slauson Ave. Commerce, CA 90040
- 7) For details and more information, see our Terms & Conditions at http://www.4sgm.com/terms

Baby Items Baby Items Bags Bath Hardwa Housev 7.8% 24.3% Licensed Goods

Just \$890.42

	Item	Description	Regular Price	QTY Pieces	Discounted Price	Discounted Total
Sorry picture is not available	100000	CLOSEOUT ITEM	\$16.00	1	9.60	\$9.60
	18855	3 Pack 8oz Easy grip Baby Bottle - Asst Prints - Shrink Wrapped	\$2.65	40	1.59	\$63.60
The State of the S	27522	TUMBLERS,4pc 20oz MOLOKAI STER	\$1.30	8	0.78	\$6.24
	28707	POTTY CHAIR,PLASTIC 3ASST/COLO	\$2.40	24	1.44	\$34.56
DCI INE	35230	DUCT TAPE,1.89"x60yd SILVER	\$4.10	24	2.46	\$59.04
	38072	6oz 12pk Plastic Champagne Flute- Shrink Wrapped	\$2.40	24	1.44	\$34.56
	43552	BATH SPONGE SET,3pc 2-ASST COL	\$0.79	92	0.48	\$44.16
Open Stante Wash	48248	PLASTIC FOOD WRAP 80sq ft.	\$0.79	24	0.48	\$11.52



	Item	Description	Regular Price	QTY Pieces	Discounted Price	Discounted Total
	52475	11oz Wide Neck Bottle W/ Handle and Cap- Asst Header	\$1.55	41	0.93	\$38.13
	55063	GRIDDLE PAN,11.4"0.8mm SQUARE	\$2.90	20	1.74	\$34.80
	57335	Hot Wheels Monster Trucks Big Playset - Window Color Box	\$12.00	2	7.20	\$14.40
GLUE GLUE	60060	2pk Mouse/Rat Glue Trap - Color Printed Box	\$1.20	48	0.72	\$34.56
marient and the second	61443	VALET,OVER THE DOOR S.NICKEL	\$9.00	1	5.40	\$5.40
	67905	25pc My Little Pony Foam Floor Puzzle - Color Box	\$4.80	3	2.88	\$8.64
NOOLES	73842	4.7" Noodle Floater - 3 Assorted Colors - Sticker Label	\$1.30	168	0.78	\$131.04
	74195	BOWL,9"HAND PAINTED MULTI 4ASS	\$0.89	24	0.54	\$12.96

						1 ago + 01 0
	Item	Description	Regular Price	QTY Pieces	Discounted Price	Discounted Total
	74198	9" Hand Painted Bowl - 4 Assorted Colors - Labeled	\$0.89	84	0.54	\$45.36
	74199	BOWL,9"HAND PAINTED STRIPE 4AS	\$0.79	134	0.48	\$64.32
The state of the state and	75949	SEWING THREAD,4pc BLACK & WHIT	\$0.69	36	0.42	\$15.12
THE THE	77858	FOOD STORAGE,4ct W/LID 24oz UN	\$2.85	1	1.71	\$1.71
30 Paper Caps	77860	9oz 24pc Mickey and Friends Glad Paper Cups - Shrink Wrap	\$1.95	10	1.17	\$11.70
60 Paper Cups	77865	PAPER CUPS,24pc 9ozMINNIE DOTS	\$1.95	20	1.17	\$23.40
CERLENES Now you	78039	SOUP MUG,24oz w/LID HOWUDOIN F	\$2.90	13	1.74	\$22.62
PNOT HOW WE NOW ARE WELL TO THE TOTAL TOTA	78046	GLASS SET,1.5oz 4pc FRIENDS TE	\$2.90	12	1.74	\$20.88

	Item	Description	Regular Price	QTY Pieces	Discounted Price	Discounted Total
Caulage	78081	LAMP,14"DISNEY PRINCESS	\$5.30	4	3.18	\$12.72
	78139	ACTION FIGURE,7"RAW10 TERROR-D	\$6.00	2	3.60	\$7.20
MICEL POPULATION AND ADMINISTRATION ADMINISTRATION AND ADMINISTRATION	78141	ACTION FIGURE,7"MORTALKOMBAT S	\$9.00	6	5.40	\$32.40
	78150	Mortal Kombat Action Figure- 7"	\$9.00	6	5.40	\$32.40
	78707	Barbie Fantasy Hair Playset - Blister Card	\$18.50	4	11.10	\$44.40
	78875	5"x7" Marvel Finger Flingers- Assorted - Counter Display	\$0.79	22	0.48	\$10.56
Tomo remai	79172	36pc Hot Wheels Floor Puzzle - Color Box	\$4.10	2	2.46	\$4.92



Discounted Total

Just \$890.42

ltem	Description				Regular Price	QTY Pieces	Discounted Price
Total		\$1	,484.04			Baby Items	
Discount			\$593.62	Toys —			
Total After Discount		\$8	90.42				Bags
Total of Pieces			900				— Bath
Avg Price Per Piece			\$0.99				Baby Items Bags
Number of Uniqe Items			31			_	Bath Hardware Housewares
Estimated Total Weight:	67	2.91	lbs.	Licensed Goods			Licensed Go Toys Total:
Estimated Total Volume	: 8	3.52	Cu. ft				i otal.
FOUR SEASONS GENERAL M	ERCHANDISE TERMS OF SA	LE					
Each closeout pallet is uniq Prices subject to change wi Not responsible for typograph	thout notice.	e basis			Housewar	es	

4) Pictures are for illustration purpose only.

5) All shipments are F.O.B. our Warehouse is located at 5840 E Slauson Ave. Commerce, CA 90040.

6) For detail and more information, see our Terms & Conditions at http://www.4sgm.com/terms